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BackG. (N=473, r=0.56) : Vr=0.661D+0. 756
sp. 1 (N=17,r=-0.26) : Vr=-0. .
Asp. 2(N=81,r=0.28) : Vr=0. 141D+1.854
Asp. 3 (N=64, r=0.27) : Vr=0.451D+1.126
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—— Asp. 1(N=13,r=0.76) : Vr=0.841D+1.057 —— Asp. 1 (N=17, r=-0. 35) : Vr=-0.227D+2. 868
—— Asp. 2(N=81,r=0.21) : Vr=0.142D+2.170 —— Asp. 2(N=81,r=0.35) : Vr=0.189D+1. 726
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—— Asp. 1 (N=17, r=-0.32) : Vr=-0.222D+2. 875 —— Asp. 1(N=17,r==0.26) : Vr=-0.190D+2. 746
—— Asp. 2(N=76, r=0.28) : Vr=0.298D+1.475 —— Asp. 2(N=81,r=0.16) : Vr=0.099D+2. 007
—— Asp. 3(N=64, r=0.37) : Vr=0. 477D+1. 206 —— Asp. 3(N=68, r=0.46) : Vr=1.422D-1.759
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BackG. (N=473, r=0.54) : Vr=0.252A0+1.288
Asp. 1(N=17,r=-0.16) : Vr=-0.036A0+2. 640
—— Asp. 2(N=81,r=-0.12) : Vr=-0.009A0+2. 346

Asp. 3(N=64. r=-0.09) : Vr=-0.02240+2.765
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BackG. (N=533, r=0.54) : Vr=0.244A0+1.377
Asp. 1 (N=8, r=0.04) : Vr=0.014A0+2. 603

Asp. 2(N=81,r=-0.13) : Vr=-0.007A0+2.484
Asp. 3(N=10, r=-0.26) : Vr=-0.056A0+2.862
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——— BackG. (N=559, r=0.54) : Vr=0.233A0+1.322 —— BackG. (N=490, r=0.55) : Vr=0.239A0+1.215
—— Asp. 1 (N=13,r=0.75) : Vr=0.238A0+1. 182 = Asp. 1 (N=17,r=-0.23) : Vr=-0.049A0+2.776
—— Asp. 2(N=81,r=0.66) : Vr=0.054A0+2.319 —— Asp. 2(N=81,r=-0.14) : Vr=-0.011A0+2.395
—— Asp. 3(N=70, r=0.03) : Vr=0.007A0+2. 281 —— Asp. 3(N=70, r=0.44) : Vr=0.027A0+2. 378
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—— BackG. (N=498, r=0.49) : Vr=0.248A0+1.345 ——— BackG. (N=467, r=0.54) : Vr=0.248A0+1.304
—— Asp. 1 (N=17,r=-0.18) : Vr=-0.045A0+2. 7152 —— Asp. 1(N=17.r=-0.16) : Vr=-0.036A0+2. 647
—— Asp. 2(N=76, r=0. 13) : Vr=0.022A0+2. 251 —— Asp. 2(N=81,r=-0.12) : Vr=-0.009A0+2. 343
—— Asp. 3(N=64, r=0. 18) : Vr=0.029A0+2. 506 —— Asp. 3(N=68, r=0.29) : Vr=0.085A0+1. 929
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Vr (km/s)

Vr (km/s)

3.0

0.5

0.0

1.0

0.5

0.0

0.5

0.0

BackG. (N=473, r=0.41) : Vr=0.601V+0. 924
Asp. 1 (N=17,r=0.56) : Vr=0.718V+1.082
Asp. 2 (N=81,r=0.81) : Vr=0.288V+1.628
Asp. 3 (N=64, r=-0.18) : Vr=-0.126V+2.975

BackG. (N=533, r=0.32) : Vr=0.544V+1.195
Asp. 1(N=8, r=0.48) : Vr=0.908V+0. 616
Asp. 2(N=81, r=0.58) : Vr=0. 166V+2.015
Asp. 3 (N=70, r=0.21) - Vr=0. 139V+2. 138
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~——— BackG. (N=559, r=0.17): Vr=0.238V+1. 476 ~——— BackG. (N=490, r=0.32) : Vr=0.543V+1.057
—— Asp. 1(N=13,r=0.82) : Vr=1.785V-2. 399 —— Asp. 1(N=17,r=0.51) : Vr=0. 607V+1.239
—— Asp. 2(N=81,r=0.57) : Vr=0.216V+1.983 —— Asp. 2(N=81,r=0.80) : Vr=0.282V+1.634
—— Asp. 3(N=70, r=0.34) : Vr=0. 249V+1.794 —— Asp. 3(N=70, r=0. 56) : Vr=0. 196V+1. 948
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BackG. (N=498, r=0.40) : Vr=0.580V+0. 922
Asp. 1(N=17,r=0.51) - Vr=0. 680V+1.213
Asp. 2 (N=16, r=0.43) : Vr=0.282V+1.718
Asp. 3 (N=64, r=0.16) - Vr=0. 130V+2. 308
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BackG. (N=467. r=0.38) : Vr=0.572V+1.012
Asp. 1 (N=17,r=0.57) : Vr=0.739V+1. 052
Asp. 2 (N=81, r=0.81) : Vr=0.286V+1. 636
Asp. 3(N=68, r=0.59) : Vr=0.421V+1.444
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—— BackG. _0. 2km (N=13582, r=0.07) : Vr=0. 109V+1.381 —— BackG. _0. 2km(N=14105, r=0. 23) : Vr=0. 477V+0. 988

~ X y ++ BackG. _1. Okm(N=533, r=0.32) : Vr=0. 544V+1.195
—— Asp. 1.0. 2km(N=436, r=0.32) : Vr=0.614V+1.302 —— Asp. 1.0. 2km(N=254, r=0.22) : Vr=0. 343V+1.781
~~~~~ Asp. 1_1. Okm(N=17, r=0.56) - Vr=0.718V+1.082 weeee Asp. 1_1.Okm(N=8, r=0.48) : Vr=0.908V+0. 616
—— Asp.2.0. 2k (N=1845, r=0. 66) : Vr=0. 324V+1.531 —— Asp.2.0.2kn(N=1839, r=0.47) : Vr=0.223V+1.848
""" Asp.2_1. Okm(N=81, r=0.81) : Vr=0.288V+1.628 seees Asp.2_1. Okm(N=81, r=0.58) : Vr=0.166V+2. 015
—— Asp.3_0. 2km(N=1384, r=0.04) : Vr=0. 049V+2. 362 = Asp.3_0. 2km(N=1567, r=0. 11) : Vr=0.096V+2. 267
""" Asp. 3_1. Okm (N=64, r=-0. 18) : Vr=-0. 126V+2. 975 eee+ Asp.3_1. Okm(N=70, r=0. 21) - Vr=0. 139V+2, 138
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—— BackG. _0. 2km(N=14389, r=0.07) : Vr=0.105V+1.430 —— BackG. _0. 2km(N=13884, r=-0.01) : Vr=-0.013V+1.451
~~~~~ BackG. _1. Okm(N=559, r=0. 17) : Vr=0.238V+1.476 «ooeo BackG. _1. Okm(N=490, r=0.32) : Vr=0. 543V+1.057
—— Asp. 1.0. 2km(N=314, r=0. 43) : Vr=1.488V-1.995 —— Asp. 1_0. 2km(N=435, r=0.31) - Vr=0. 549V+1.380
----- Asp. 1_1. Okm(N=13, r=0.82) : Vr=1.785V-2. 399 eeer Asp. 1_1.0km(N=17, r=0.51) : Vr=0. 607V+1.239
—— Asp.2.0. 2km(N=1821, r=0.50) : Vr=0.258V+1.821 —— Asp.2_0. 2kn(N=1844, r=0.68) : Vr=0. 320V+1.523
~~~~~ Asp.2_1. Okm(N=81, r=0. 57) : Vr=0.216V+1.983 weeer Asp. 21 Okm(N=81, r=0.80) : Vr=0.282V+1 634
—— Asp.3_0. 2km(N=1542, r=0. 26) : Vr=0.240V+1.834 —— Asp.3.0. 2km(N=1580, r=0. 41) : Vr=0.246V+1.793
----- Asp. 3_1. Okm(N=70, r=0.34) - Vr=0.249V+1.794 <=+ Asp. 3_1.0km(N=70, r=0.56) : Vr=0. 196V+1. 948
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0.0 T T T 0.0 T T T
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—— BackG. _0. 2km(N=14372, r=0.01) : Vr=0.018V+1. 407 —— BackG. _0. 2km(N=13684, r=0.01) : Vr=0.012V+1. 495
..... BackG. _1. Okm (N=498, r=0. 40) : Vr=0. 580V+0. 922 +++++ BackG. _1. Okm(N=467, r=0.38) : Vr=0.572V+1.012
—— Asp. 1_0. 2km (N=429, r=0. 30) : Vr=0.594V+1.372 —— Asp. 1_0. 2km(N=436, r=0.32) © Vr=0.614V+1.304
----- Asp. 1_1. Okm(N=17, r=0.51) : Vr=0.680V+1.213 seees Asp. 1_1.Okm(N=17, r=0.57) : Vr=0.739V+1.052
—— Asp.2.0. 2km(N=1702, r=0.36) : Vr=0.329V+1.590 — Asp.2.0. 2kn (N=1845. r=0.67) : Vr=0.322V+1.536
ceeee Asp.2_1. Okm(N=76, r=0. 43) : Vr=0 282V+1.718 wee== Asp.2_1.Okm(N=81,r=0.81): Vr=0.286V+1. 636
—— Asp.3_0. 2km(N=1467, r=0.08) : Vr=0. 150V+2. 187 = Asp.3_0. 2km(N=1487, r=0.45) : Vr=0.409V+1.436
~~~~~ Asp.3_1. Okm (N=64, r=0. 16) : Vr=0. 130V+2. 308 weee+ Asp. 3_1. Okm(N=68, r=0.59) : Vr=0.421V+1. 444
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